

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for REQNUMBER Quotation

GSD126772

00000	PAGE
*****	1.0380
	্ৰ
	ala.

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

RFQ COPY	
TYPE NAME/ADDRESS HERE	
TYPE NAME/ADDRESS HERE CHARDON LA BORALORIES	
7300 TUSSING Rd	
REYNOLDSburg Ch 4300	10

DEPARTMENT OF ADMINISTRATION VARIOUS LOCALES AS INDICATED BY ORDER

CONTACT CLAY TRACY 614 419 TERMS OF SALE FREIGHT TERMS: DATE PRINTED. 05/21/2012 BID OPENING DATE: 05/31/2012 BID OPENING TIME 01:30PM QUANTITY UOP ITEM NUMBER UNIT PRICE AMOUNT LINE ADDINDUM NO. 1 THIS ADDENDUM IS ISSUED TO: PROVIDE ANSWERS TO ALL TECHNICAL QUESTIONS SUBMITTED IN ACCORDANCE WITH THE PROVISIONS OF THE ORIGNIAL REQUEST FOR QUOTATION (GSD126772), 2012 MAY 30 AM 10: 10 PROVIDE REVISED BID FORM PER THE ATTACHED, 2.) EXTEND THE BID OPENING DATE: .) WV PURCHASING DIVISION BID OPENING PATE IS EXTENDED TO 05/31/2012 BID OPENING TIME REMAINS: 1:30 PM ********** END ADDENDUM NO. 1 ************ 001 962-23 1 MONTHLY WATER TREATEMENT SERVICES SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURE DAUNPONI TITLE ADDRESS CHANGES TO BE NOTED ABOVE

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- **4.** All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- **12. BANKRUPTCY:** In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.html and is hereby made part of the agreement provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).

Standard Testing and Treatment

LOCATION	Monthly Cost	Qty	Yearly Cost
Capitol Complex Campus	05		00
Bldg. 1 Main Capitol Bldg	\$ 50	12	\$ 600
Bldg. 2 DMV Bldg	\$ 50	12	\$ 600
Bldg 4 112 California Avenue	\$ 150	12	\$ 1800
Bldg. 5 Highways	\$ 1584	12	\$ 19008
Bldg. 6 Education	\$ 100-	12	\$ 1200
Bldg. 8 Governor's Mansion	\$ 50	12	\$ 600
Bldg. 11 Chilled Water Plant	\$ 300	12	\$ 3600
Bldg. 17 Finance(2101 Wash St.)	\$ 200	12	\$ 2400
Off Campus	05		, 05
Bldg. 22 Tax & Revenue	\$ 200	12	\$ 2400
Bldg. 23 Beckley (407 Nevill St)	\$ 300	12	\$ 3600 -
Bldg. 25 Parkersburg (5th & Avery)	\$ 225	12	\$ 2700
Bldg. 36 One Davis Square	\$ 30000	12	\$ 3600000
Bldg. 37 DEP (Kanawha City)	\$ 6500	12	\$ 7800
Bldg. 86 Greenbrooke (Smith \$t)	\$ 16500	12	\$ 1980
TOTAL ANNUAL STANDARD			\$51,888° (A)

Legionella Testing

LOCATION	# of Tests	Price per Test Per Facility	Quarterly Cost	Qty.	Yearly Cost
Capitol Complex Campus		00	00		10.00
Bldg. 4 (112 California Avenue)	1	\$ 120	\$ 120	4	\$ 480
Bldg. 5 Highways	1	\$ 12000	\$ 1200	4	\$ 48000
Bldg. 6 Education	1	\$ 120	\$ 1200	4	\$ 4800
Bldg. 11 Chilled Water Plant	6	\$ 12000	\$ 72000	4	\$ 288000
Bldg. 17 Finance(2101 Wash St.)	2	\$ 12000	\$ 2400	4	\$ 9/0000
					76
Off Campus		00	, 0,1		000
Bldg, 22 Tax & Revenue	2	\$ 120	\$ 240	4	\$ 960
Bldg, 23 Beckley (407 Nevill St)	1	\$ 120-	\$ 12000	4	\$ 480
Bldg. 25 Parkersburg (5th & Avery)	2	\$ 12000	\$ 240	4	\$ 9/000
Bldg. 36 One Davis Square	3	\$ 1200	\$ 3/000	4	\$ 144000
Bldg. 37 DEP (Kanawha City)	3	\$ 12000	\$ 360	4	\$ 1440
Bldg. 86 Greenbrooke (Smith St)	·1	\$ 12000	\$ 1200	4	\$ 480
TOTAL ANNUAL LEGIONELLA					\$ 11,040 (B)
TOTAL BID $(A + B) = C$					\$62,928 (c)

Unit Pricing:

Statewide Buildings may be added to this list during the life of the Contract only by mutual agreement of both the Agency and the Contractor, through formal change order. For the purposes of processing any change orders to this contract at a later date, please provide the following Unit Prices:

Item 1 - Cold Water Loop: Unit Price is based on standard testing and treating per month	00
Cost of standard testing per month for cold water loop:	\$ 100
Item 2- Hot Water Loop: Unit Price is based on standard testing and treating per month. Cost of standard testing per month for cold water loop:	\$ 100
Item 3- Cooling Tower: Unit Price is based on standard testing and treating per month. Cost of standard testing per month for cooling tower: SIZE?	LARGE 400 00 300 00 300 00 300 00 300 00 00 00
Item 4- Condensate line supply: Unit Price is based on standard testing and treating per Cost of standard testing per month for condensate line supply:	month. \$ 50
Item 5- Condensate line return: Unit Price is based on standard testing and treating per record of standard testing per month for condensate line supply:	month. \$50
Item 6- Legionella testing: Unit Price is based on a single legionella test. Cost of legionella test:	\$_120
It is supposed a understood that the Daily Daily C. H.	10.10.1

It is expressly understood that the Unit Prices are for the purposes of change orders only, and that their value does not need to correlate to, nor will it be factored into, calculation or evaluation of the Total Contract Bid.



MODKAN

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

GSD126772

PAGE 1

***ADDRESS CORRESPONDENCE TO ATTENTION OF:

ADDRESS CHANGES TO BE NOTED ABOVE

KRISTA FERRELL 304-558-2596

DEPARTMENT OF ADMINISTRATION
VARIOUS LOCALES AS INDICATED
BY ORDER

Chardon Laboratories 7300 Tussing Road Reynoldsburg, OH 43068-4111 Attn: Quote Request

DATE PRIN	NTED	TERMS OF SA	LE	SHIP VIA	F.O.B.	FREIGHT TERMS
	05/04/2012					
BID OPENING DATE: 05/22/2012		BID OPENING TIME 01		11:30PM		
LINE	QUANTITY	UOP	CAT. NO.	ITEM NUMBER	UNITPRICE	AMOUNT
			· · · · · · · · · · · · · · · · · · ·			
001	1 MONTHLY WAT	EA ER TREA		62-23 T SERVICES	\$5244 60 per mo.	62,928 00 per 4R.
A A A A A A A A A A A A A A A A A A A	AGENCY, THE SERVICES, IS SERVICES, IS TO PROVIDE TO PRO	WEST VEST ON SOLIC WATER TRAITON ACHED SUBSTION OF THE PURATE PURATE OF BUAL QUESTEN ADDUCE THE TRACT:	OPEN STATE IRGIN ITING REATM OWNED PECIF S CON ITING CHASI AT KR ECHNI SINES FIONS ENDUM DEAD THIS FOR A "REA	CERNING THIS SOL TO KRISTA FERRE NG DIVISION VIA ISTA.S.FERRELL@W CAL QUESTIONS IS S. RECEIVED WILL B TO BE ISSUED BY LINE HAS LAPSED. CONTRACT BECOME. PERIOD OF ONE (SONABLE TIME" THE	SION FOR THE ENERAL N END CONTRACT DEPARTMENT IDINGS ICITATION MUST LL IN THE WEST FAX AT 304-558 V.GOV. 05/14/2012 E ANSWERED BY THE PURCHASING THE PURCHASING SEFFECTIVE ON L) EREAFTER AS	
SIGNATURE	hrt St	WIN TO		TELEPHONE	360-1600 DA	TE 5/15/12.

31-0719008

esident



VENDOR

State of West Virginia
Department of Administration
Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

Ţ

RFQ NUMBER GSD126772

PAGE 2

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

DEPARTMENT OF ADMINISTRATION VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRINTED	TERMS OF SALE	SHIP VIA	FO.B	FREIGHT TERMS
05/04/2012				
	5/22/2012			30PM
LINE QUAN	ITITY UOP CAT. NO.	ITEM NUMBER	UNIT PRICE	AMOUNT
ORIGINA NOT EXC TIME" T REASON WRITTEN	L CONTRACT. THE EED TWELVE (12) HE VENDOR MAY TE UPON GIVING THE NOTICE.	RMINATE THIS CON DIRECTOR OF PURC	E" PERIOD SHALL THIS "REASONABLE TRACT FOR ANY HASING 30 DAYS	
THIS CO ITS AGE CONDITI	NTRACT DOCUMENT NCIES, OR FOLITI	ONS ARE STIPULAT BY THE STATE OF CAL SUBDIVISIONS SET FORTH HEREIN T.	WEST VIRGINIA, , THE TERMS,	
WRITTEN SUBMITT DAYS PR EE IN A CRIGINA	CONSENT OF THE ED TO THE DIRECTION TO THE EXPIRECTOR TO THE EXPIRECTORDANCE WITH T	MAY BE RENEWED USPENDING UNIT AN OR OF PURCHASING ATION DATE. SUCHE TERMS AND CONHALL BE LIMITED PERIODS.	D VENDOR, THIRTY (30) H RENEWAL SHALL DITIONS OF THE	
RIGHT TO NOTICE SUPPLIE: WITH TH	O CANCEL THIS CO TO THE VENDOR IF D ARE OF AN INFE E SPECIFICATIONS RKET CLAUSE: THE	CTOR OF PURCHASI NTRACT IMMEDIATE THE COMMODITIES RIOR QUALITY OR OF THE BID AND DIRECTOR OF PUR IT TO PURCHASE O	LY UPON WRITTEN AND/OR SERVICE DO NOT CONFORM CONTRACT HEREIN. CHASING MAY	
MARKET, ESTIMAT: IMMEDIA' CAUSES TRANSPO!	WITHOUT THE FIL E, ITEMS SPECIFI TE DELIVERY IN E (INCLUDING BUT N	IT TO PURCHASE O ING OF A REQUISI ED ON THIS CONTR MERGENCIES DUE T OT LIMITED TO DE ANTICIPATED INCR	TION OR COST ACT FOR O UNFORESEEN LAYS IN	
	SEE RE	VERSE SIDE FOR TERMS AND CO	l Voitions	
SIGNATURE	1/20081			115/12
TITLE President	FEIN 3 (-67)	19008	ADDRESS CHANGES	TO BE NOTED ABOVE
WILL DEOD	7 07/	TAIANAE AND ADDRESS	IN COACE ADOLE LABELE	D II /EA ID OB!

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'



YEZDOR RODSEV

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ NUMBER GSD126772

::	PAGE

faddhessicohkeskondenceriofarienhionioe

KRISTA FERRELL 304-558-2596

DEPARTMENT OF ADMINISTRATION SH-P VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRINTED	TERM	AS OF SALE	SHIPA	/iA	FOB,		FREIGHT TERMS
05/04/2012							
BID OPENING DATE:	05/22/2	012		BID C	PENING TIME	01:30)PM
LINE Q	JANTITY	UOP CAT.	ITEM NUI	VBER	UNITPRICE		AMOUNT
		,,,,				******	
COVER PRIOR SPECI	AGE OF C TO ISSU FIED IN	OMMERCIAL ANCE OF T	GENERAL I TE CONTRAC CUMENTS,	LIABILIT CT. UNI THE MIN	ISH PROOF OF Y INSURANCE ESS OTHERWISE IMUM AMOUNT O		
					ED TO PROVIDE IF SUCCESSFUL		
FOR B	ANKRUPTC NULL AN	Y PROTECT:	ON, THIS	CONTRAC	NTRACTOR FILE T IS AUTOMATI WITHOUT FURTH	-	
REV.	9/98						
ехнів	IT 4				48		
IN THE	E BID HIS CONDITIONS THER LOCA LITICAL S NIA. IF S, TERMS ICAL SUBI LY INDICA NOT PRES	S REFUSAL S OF THE PAL GOVERNM SUBDIVISION THE VENDO , AND COND DIVISIONS ATE SUCH PARTY	TO EXTENI ID TO COU ENT BODIE NS OF THE R DOES NO ITIONS OF OF THE ST EFUSAL IN	O THE PROMITY, SO INTY, SO INT	TO EXTEND THE	AL END	
REV.	3/88						
durren Is Is	NTLY UTIL	OUGH A BAN HE STATE C	SA PURCHA K. THE S	SING CA SUCCESSF RGINIA	OF WEST VIRGI RD PROGRAM WH UL VENDOR VISA PURCHASI WIMIONS	ICH	
SIGNATURE	Butt			TELEPHONE	860-1000	DATE	1,5-112
TITLE O	FEIN	N -> /	100	611	1	MCEE TO	BE NOTED ABOVE
1 resport	DONDING T	31-07	19008	ADDDECO	N SDACE ADOVE LA		



VEZ DOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

GSD126772

PAGE 4

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

DEPARTMENT OF ADMINISTRATION VARIOUS LOCALES AS INDICATED BY ORDER

ADDRESS CHANGES TO BE NOTED ABOVE

RFQ COPY TYPE NAME/ADDRESS HERE ð

DATE PRINTED	TERMS OF SALE	SHIP VIA	FO.B.	FREIGHTTERMS
05/04/2012 BID OPENING DATE: 05/	22/2012	DTD O	PENING TIME 01	- 2 0 DM
LINE QUANTIT		ITEM NUMBER	UNIT PRICE	: 3 O PM AMOUNT
CIVE GOAVIII	1 OUT NO	HEM NOMBER	UM PAICE	AMOUNT
	PAYMENT OF ALI	ORDERS PLACED B F AWARD.	Y ANY STATE	
(1) HE OR THE BID C THE BIDDE THE BIDDE THE BIDDE	SHE IS AUTHOR CR ANY DOCUMENT CR, (2) THAT HE CR IN A CONTRAC CR HAS PROPERLY	THIS BID IS CERT IZED BY THE BIDD S RELATED THERET OR SHE IS AUTHO TUAL RELATIONSHI REGISTERED WITH RE REGISTRATION.	ER TO EXECUTE O ON BEHALF OF RIZED TO BIND P, AND (3) THAT	
	NOTI	CE		
A SIGNED	BID MUST BE SU	BMITTED TO:		
PURC BUIL 2019	RTMENT OF ADMI HASING DIVISIO DING 15 WASHINGTON ST LESTON, WV 25	N REET, EAST		
	OPE OR THE BID	THIS INFORMATION MAY NOT BE CONS		
BUYER:	KRIST	A FERRELL-FILE 2	1	
RFQ. NO.:	GSD12	6746		
BID OPENI				
SIGNATURE // / /	***************************************	PERSE SIDE FOR TERMS AND CON		
Mula la	RICA	TELEPHONE / 4	1-010-1000 DATE	5/15/12



DATE PRINTED

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

TERMS OF SALE

Request for Quotation

SHIP VIA

RFQ NUMBER GSD126772

PA	ge
	5

FREIGHT TERMS

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

ISTRATION INDICATED

FØB,

	RFQ COPY			8
	TYPE NAME/ADDRESS	HERE		DEPARTMENT OF ADMIN
	**		8	DEPARTMENT OF ADMINIVARIOUS LOCALES AS BY ORDER
1			P	BY ORDER
1			T	
1			О	
deleter				

05/04/									
BID OPENING DATE	::::::::::::::::::::::::::::::::::::::	5/22/2		елт			OPENING TIME	01	:30PM
LINE	QUAN	TITY	UOP	ÇAT. NO	ITE	M NUMBER	UNIT PRICE		AMOUNT
	BID OPE	NING 1	IME:	1:30	PM				
1	PLEASE TO CONTA	PROVID	E A F U REC	AX NU	MBER I	N CASE IT BID:	IS NECESSARY		
i	CONTACT	PERSC	N (PI	EASE	PRINT	CLEARLY):			
	*****	THIS	IS TH	E END	OF RF	Q GSD126'	772 ***** TOI	CAL:	62,928° C
									per 4R
SIGNATURE	11.1.	L	ler 7	SEE REV	ERSE SIDE F	OR TERMS AND CO	naitions -860-1000	DATE	~ (1 ~ 1).
TITLE TO	17	O FE	N 3/-	171	9008	011		ANGES	TO BE NOTED ABOVE

GSD126772-Attachment A-Bid Form

Standard Testing and Treatment

LOCATION	Monthly Cost	Qty	Yearly Cost
Capitol Complex Campus			10000
Bldg. 1 Main Capitol Bldg	\$ 50	12	\$ 600
Bldg. 2 DMV Bldg	\$ 500	12	\$ 600
Bldg 4 112 California Avenue	\$ 150	12	\$ 1800 00
Bldg. 5 Highways	\$ 1584 11	12	\$ 19.008
Bldg. 6 Education	\$ 100 -	12	\$ 1200 -
Bldg. 8 Governor's Mansion	\$ 500	12	\$ 60000
Bldg. 11 Chilled Water Plant	\$ 300	12	\$ 3600
Bldg. 17 Finance(2101 Wash St.)	\$ 20000	12	\$ 2400"
Off Campus	66		e 5
Bldg. 22 Tax & Revenue	\$ 200	12	\$ 2400
Bldg. 23 Beckley (407 Nevill St)	\$ 300	12	\$ 31000
Bldg. 25 Parkersburg (5th & Avery)	\$ 22500	12	\$ 2700
Bldg. 36 One Davis Square	\$ 30000	12	\$ 3600
Bldg. 37 DEP (Kanawha City)	\$ 65000	12	\$ 78000
Bldg. 86 Greenbrooke (Smith St)	\$ 16500	12	\$ 19800
TOTAL ANNUAL STANDARD			\$ 51,888 (A)

Legionella Testing

LOCATION	# of Tests	Price per Test Per Facility	Quarterly Cost	Qty.	Yearly Cost	
Capitol Complex Campus		60	es c.		6.5	
Bldg. 4 (112 California Avenue)	1	\$ 120	\$ 120	4	\$ 480	
Bldg. 5 Highways	1	\$ 12000	\$ 12001	4	\$ 4800	
Bldg. 6 Education	1	\$ 12000	\$ 120	4	\$ 4800	
Bldg. 11 Chilled Water Plant	6	\$ 10000	\$ 72000	4	\$ 2880	
Bldg. 17 Finance(2101 Wash St.)	2	\$ 12000	\$ 24000	4	\$ 96000	
Off Campus		60	20.6		аC	
Bldg. 22 Tax & Revenue	2	\$ 120	\$ 240 00	4	\$ 960	
Bldg. 23 Beckley (407 Nevill St)	1	\$ 12000	\$ 12000	4	\$ 480	
Bldg. 25 Parkersburg (5th & Avery)	2	\$ 12000	\$ 24000	4	\$ 96000	
Bldg. 36 One Davis Square	3	\$ 12000	\$ 36000	4	\$ 144000	
Bldg. 37 DEP (Kanawha City)	3	\$ 12000	\$ 36000	4	\$ 1440 00	
Bldg. 86 Greenbrooke (Smith St)	1	\$ 12000	\$ 12000	4	\$ 480	
TOTAL ANNUAL LEGIONELLA					\$ 11,040 (8)	
TOTAL BID (A + B) = C					\$62,928 (c)	

GSD12	67727
-------	-------

		(404-100)7777	_	_
RFQ No.				

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

WITNESS THE FOLLOWING SIGNATURE

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

Vendor's Name: Charpen LAborn LORIES INC.	
Authorized Signature:	
State of Ohio	
County of FRIRFIELD, to-wit:	
Taken, subscribed, and sworn to before me this 15 day of MAY, 2012.	
My Commission expires 10-23, 2015.	
AFFIX SEAL HERE NOTARY PUBLIC Brenda Francis	

Brenda Francis Notary Public In And For The State Of Ohlo My Commission Expires 10-23-2015 1.

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

Application is made for 2.5% resident vendor preference for the reason checked:

	Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5. 	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
requiren against	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the nents for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency cted from any unpaid balance on the contract or purchase order.
authoriz the requ	nission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and es the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid lired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information by the Tax Commissioner to be confidential.
and acc	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate is during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
Bidder:	about the state of
Date:	5-15-12 Title: President

^{*}Check any combination of preference consideration(s) indicated above, which you are entitled to receive.